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ABSTRACT 

According to general relativity the Sun attracts the cosmos from all directions, thus the waves made by the            

space-time distortion must be dimensional, which inquires a solar system with circular orbits with the Sun in its center, 

opposing Kepler's first law.the light coming from the star behind the Sun in the major eclipse 29 may 1919 was refracted 

by the material atmosphere of 450000 Km thick transparent medium enveloping the Sun. the same thing happens in all 

stars used in gravitational lensing because they have a same transparent medium.  

If the cosmos is warped in waves, then there must be interference between the waves generated by the 

uncountable galactic centers and stars and between those made by the Sun and by its planets, which must, at least, deform 

the shape of all orbits of stars and planets. 

The fact of the waves received by "LIGO" is that we have received nothing from the cosmos, and the vibrating the 

laser in LIGO was the Earth itself is shaking by the gravity defined by Newton.  
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INTRODUCTION 

Discussing Newton theory of gravity, Einstein realized that, if the Sun disappeared suddenly, according to 

Newton the planets will all quit their orbits spontaneously and no matter how the planet is far from the Sun, which mean 

that the effect of gravity vanish is transmitted faster than light which is unacceptable because according to him, nothing can 

travel faster than light so he decided that the planets will continue turning in their orbits formed by the waves made by the 

space time already distorted by the mass of The Sun until the influence of the disappearance of the Sun arrives the planets 

one by one from the nearest to the farthest, and to substitute Newton's theory he determined that bodies of heavy mass like 

the Sun and stars and black holes are able to distorts the space time producing the peaks and bottoms of wavs. Einstein said 

that this retraction can bend light, so we can observe stars behind it, like in gravitational lenses and the observation of the 

star behind the Sun in the major eclipse of 29 may 1919 which made of him the world super star. 

RESULTS 

• Neither masse nor energy can warp or twist the absolute emptiness because it is made of nothing. 

• The general relativity is unable to explain why the Sun is not located in the geometrical center of the orbit or why 

orbits are all elliptical 
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• This theory can't explain why the density of the lyers of stars and planets increases gradually from the cortex to 

the core. More exactly it can't answer what is waight?  

GENERAL CONCLUSION 

In this study we were able to explain how that light imagined bended by what Einstein call space time distortion 

during the major eclipse of 1919 and gravitational lenses was simply refracted by the transparent atmosphere of the Sun 

and all other stars, and the gravity is till now as Newton assume ais an innate force of an object that can act over a distance. 

Finally, we can declare that Einstein's theory of general relativity has lost all its reasons to continue or survive  

Heavy Body and the Distortion of the Space Time 

The famous example of the heavy body on the trampoline in the link: Gravity visualized: 

https://www.youtube.com/watch?v=MTY1Kje0yLg#t=146.730667 

can't b accepted because the distortion influence of the mass of the body (Sun) is tridimensional, thus it will 

retract the cosmos from all directions to produce a sort of multiple tridimensional "wave- spheres" that we can't imagine, 

means, that the bidimensional waves shown in the example are no more accepted and each planet will turn in its proper 

tridimensional spherical orbit, and the Sun must be in the center the solar system and all orbits must be perfect circles, but 

this will oppose. Kepler first law, that orbit is a bidimensional plane and it is elliptical and the Sun is located in one focus 

of the ellipse. 

Wave Orbits Interference 

If all orbits of the stars in the Milky way are really made of waves of space time distorted by the mass of the 

galactic center, and the orbits of all the planets of the solar system are made of waves resulting by a space time distorted by 

the Sun, and the moon turns around the Earth in an orbit made by waves resulted by the Earth's distorting the space time, 

this must mean the following:  

• The orbit, what it, is made of a circular trench built by a bottom between two peaks, where the Sun turns around 

the galactic center in relatively very big trench with deep bottom and high two inner and outer peaks to guide its 

motion, and the Earth's trench is smaller than that of the Sun and finally, the orbit of the moon is smaller than that 

of the Earth. Now the Earth turns around the Sun where it must cross the orbit of the Sun twice a year during 

vernal and fall equinoxes, in return, while the moon turns around the Earth it must cross the trench of the Earth 

twice daily.  

• The question is, how could the moon over jump the deeper trenched orbit of the Earth, and how the Earth with its 

moon over jumps the gigantesque trenched orbit of the Sun without the Earth or its moon fall in it?  

Einstein didn't say a word about the interference above as an invertible impasse  

Does Massive Bodies Bend Light? 

The historical event of 29 may 1919 represented by the major eclipse shown in figure 1,  
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Figure 1 

And detailed in the link: (the experiment that made Einstein a superstar): 

https://www.youtube.com/watch?v=IVHQH4UPIFs 

To discuss this accident, we have in figure 2, the image from NASA: layers of the Sun, 

https://www.nasa.gov/mission_pages/iris/multimedia/layerzoo.html,  

 

Figure 2 

which confirms that the Sun is surrounded by a transparent material atmosphere made of three layers, the 

photosphere, the chromo sphere and the corona, they all makes the transparent atmosphere of the Sun of 432000 Km thick, 

(1,5 light second), and this allows us to reinterpret the accident as the light coming from the star behind the Sun was 

refracted by this transparent medium, then it is diffracted by the dark edge of the dark moon toward the people on the Earth 

to see a virtual image of the star far from the Sun. 

Concerning gravitational lenses, the same thing is happening, where all the stars are enveloped by the same 

transparent medium. Figure 3,  
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Figure 3 

So the truth is that the light is not bended by the warped cosmos but refracted by this transparent medium 

enveloping these stars. 

Special Case 

The Behavior of Light in the Vicinity of the Black Hole 

The transparent medium around the black hole is a very exceptional an special atmosphere enveloping its mass, 

which is coming from the stars or galaxies attracted by its strong gravity because the black hole, like a vacuum cleaner, 

suck and eats everything around it figure 4. 

 

Figure 4 

During its journey from the body under sucking to the black hole, the sucked matter looses continuously its 

density by having its constructive elents being destructed by the highest acceleration one can ever imagine and which may 

ecceed the speed of lught, and before it collides with the mass of the black hole it inters through the event horizon, with its 

virtual borders, where two phenomenon’s occurs, first, the refraction index that was decreasing during the journey start to 

collapse rapidly.  

Second, according the law of Snell in optics, when the light traverses a stationary transparent medium, it travels 

slower than C, thus, to travel a distance D in time t in vacuum, it will needs an additional time t' to cross the same D in a 

transparent medium. That is the ordinary behavior if the medium is stationary, but inside the event horizon we are about a 

medium that flows with extremely high acceleration which may exceed the speed of light, try to imagine how much of time 
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that light will need go through a medium which is moving with speed very near to C or even faster than C, surely it will 

need an interminable time to get out of this trap medium, during this phenomenon of "dissolution" of light, the rapid 

flowing medium imprisons the light forcing it to its last definitive destination to end in the mass of black hole which 

explain why this mass is invisible. 

In return, outside the event horizon, the transparent medium behave exactly like the transparent medium 

enveloping the Sun during the eclipse 1919 and enveloping other stars in gravitational lensing.  

The Waves Received by LIGO 

In the link:  Major scientific announcement could validate Einstein,  

http://edition.cnn.com/2016/02/10/us/gravitational-waves-announcement-feat/  

In April 11 2016 the Laser Interferometer of Gravitational waves Observatory, declared the reception of what they 

call wave of gravity. 

In this question, in addition to the model of Einstein's gravity above, we have the models of Sir Isaac Newton who 

formulated all his laws on that the gravity is a force of attraction between two bodies where he built his theory on that the 

Earth pulls the Moon and the Sun pulls the Earth and planets then the galactic center pulls the Sun and the stars and the 

collective gravity of the local group tend to pull all the galaxies in it toward the center of this group and so go on to have a 

sort of gravity net that covers all the universal contents, so according to this model, we can imagine that if any gravitational 

disaster in the universe that can affect on our galaxy it will be transmitted to all its stars including the Sun which will 

transmitted to the Earth and all its natural and artificial satellites, and this will happen by a vibration from the galactic 

center to the Earth which will act by shaking, and this is what was happened in LIGO, we didn't receive any wave from the 

cosmos, but we were feeling it by the shaking of the Earth.  

Finally in this point, scientists in LIGO, with all facilities in their hands can't refuse the theory above, thus they 

will never be able to confirm that the thing they received is really what they call waves of gravity.  

The Faster Than Light 

• When a locomotive pulls the train the influence of the pull action will drive all the train in a same instant where 

the first car and the last one are moving in one same time, so the effect of the locomotive is transmitted faster than 

light.  

• when you influence a football by an energy of your finger this makes the whole body of it turns which mean that 

the act of your finger is transmitted to all points of the ball body spontaneously, or faster than light 

• when the Sun pull the planets to travel with it in its orbit around the galactic center, this act is spontaneous and 

faster than light 

• when the galactic center drives all the stars in the galaxy in its motion this act is spontaneous for all the content of 

this galaxy and it is faster than light 

• If you shake a stick or hold a cup of tea, this act is transmitted spontaneously to all the atoms in it, means, faster 

than light 
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I wanted to say the speed of light and faster must not be a holy taboo. End 
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